2008
GENERAL STUDIES

Paper 1

Time - 8 Hours | ' ' [ Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada. If
any confusion arises in the Kannadg version, please refer to
the English Version of the questions. '

Answers must be written in the medium specified (English or

Kannada) in the Admission Tichet issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. No credit will be given for the

answers written in a medium other than that specified in the

Admission Ticket.
Candidates should attempt questions from all Parts.

The number of marks carried by each question is indicated

with the question.

The length of the answers should not, as far as possible, exceed

the specification given for the question.
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' PART A

1. Answer any fwo of the following questions in not more than
200 — 250 words each : . 20x2=40

(a) Discuss the nature of the Revolt of 1857.

RN -1 ) e A Al ammmblhada A saram 1 of tha sarlys
b}  BXplaIn LNE Propiallile afu ule HCLEUUS UL WULlh ul o biie sy

nationalists of the Indian National Congress.

(¢} Critically evaluate the social reforms with special reference to
emancipation of women in Mysore state between 1881 and 1900.

(d) Trace the various dimensions and facets of Backward Class

Movements in Karnataka.

2. Answer any four of the following questions in about 100120 words
each : 10x4=40

(a) Summarize the challenge thrown by the Gadhar revolutionaries to

colonialism.

(b) Do you agree with the view that the scheme of constitutional
changes introduced in 1909 Act was designed as a milestone in the
‘divide and rule’ strategy ?

(c) Highlight the work of Swarajists in the National Movement during
1922 — 1925.

(d) Major part of Dewan Mirza Ismail’s administration was spent in
suppressing the popular agitations in Mysore. Comment.

{e) Briefly expléin the significance of ‘Mysore Chalo” movement.

(f)  Summarize the literary development in Karnataka during the

post-Independence days.
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3. Answer any fwe of the following questions in about 50 — 60 words each :
5x8=10

(a) Write a note on the ‘Safety Valve Theory’ related to the foundation
of the Indian National Congress.

{b) What were the socto-economic factors responsible for the genesis of
communalism in India in the 19th century ?

(c) Write a note on the Belgaum Session (1924) of the Conerece

i T T

4. Write brief notes on all of the following in about 20 — 25 words each :
2x5=10

{a) Rabindranath Tagore
(b) R.LN. Revolt

(¢) LN.A. Trials

(d) Kengal Hanumanthaiya
{e) Koot Rebellion
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PART B

6. Answer any three of the following questions in about 200 - 250 words

each : _ : 20x3=060
(a) Examine the implications of global economic crisis on Indian GDP
growth in general and IT industry in specific.

(b) Right to Information Act is best seen as an attempt to bring
awarcnosa and troncpnronay im o ormoman  nsansma grae ae 1 s+.-k1iA

Comment and justify.
(c) Critically examine the poverty alleviation programmes of India.

(d) Discuss the measures taken by Government of Karnataka in recent
years to rectify regional imbalance.

(e) Indian poverty shown on screen can fetch Oscars. Comment,

(f)  Critically examine the problems faced by farmers of Karnataka and
illustrate your answer with decrease in agricultural productivity.

6. Answer any five of the following questions in about 100- 120 words
each 10%5=50

(a) Discuss the implications of the proposed Greater Bangalore.
Authority on the city infrastructure.

(b) Highlight the objectives of National Rural Employment Guarantee
Act.

{c) Explain the present power scenario of Karnataka and comment on
the anomalies.

(d) Highlight the recommendations of National Knawledge Commission.

(e) Examine the implications of Tribal Act of India on forest and
wildlife conservation,

(f) Highlight the objectives of Right to Education Bill.

(g) Critically examine the need and significance of private — public.
partnership projects.

(h) ‘Corporate governance at cross-roads’ -— Illustrate the event with
Satyam episode. '
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7. Answer/write short notes on, any six of the following questions in about

50 — 60 words each :
S5X6=30

(a) Special Economic Zones

(b) Pseudo secularism obstructing anti-terrorism efforts

(¢) Virtual technology

(d) Justify India’s claims to a seat in the Security Council.
{e) National river lining project

() Can you account for the near collapse of the Public Distribution
System in most of the States ?

(g) Why do you think the total ban on smoking in public places is not
very effective ?

(hy What is NINJNA ?

8. Write brief notes on all of the following in about 20 — 25 words each :
2x10=20

(a) Micro-credit groups

{b) Core banking system

(¢) Rain Water Harvesting

(@) A.R. Rehman

{e) Minimum Support Price

() Major Sandeep Unnikrishnan
(g) Datta Peeta tradition

(h) Kodava culture

(i) Moral policing

(73 ‘White Tiger’



{9} cC

TUNS omagmwm wts SANeR evIdaIEd wddod. KHIoNR T
50 - 60 TEMY IcHOTIE 5x6=30

(a) DBexm LT DTOCHMD.

(b) _&bqﬁs m:%&ea’mﬁaom’ 2303 B, TIT DO @oda:a;n‘@ﬁ 29032378,

(©) @9gSE (Virtual) 303, |

@ o Soavohd BT Sdobes U3 SPGB ST, TDPER.
() moratEBon Tog, tow BOOIRCES.

() wEHdeE TorvY MSEHIT HTOW BEgonn Bus, Zad D 2038
20Ty WEDRERINTI ? |

(@) FoREEDE FUNVY GADHmE SRHITTH ompeETn RO
F oo wbmaﬁmaomhw o BPTIORT, Foscansiess ?

(h) NINJNA aomdesd 7

& 2enEmNeT onie, Fodd BT WOk, Fodeomh €wIT 20~ 25
oY EohOTeie 2x10=20

(a) 37, HOED MO

(by BRLF R3O T

(¢)  HYVEDT FHoI)

(@) o850 Seamat

(e) B jow® 233

) hewot Robem® m‘@wnaﬁ
(g) =8 &eT TCoWT

(h) Zems Tom, 2

fEon FomenMmb?

2_,‘}

e )

i 28 &8 (White t1ger)



(10)

PART O

[yl

(a) Explain the construction and uses of the following diagrams : 4
(i) Histogram
(i} Pie-chart

(b} Following data relate to the amount spent on import and export by
a country for the period from 1891 to 1998 :

- Year Import Export
(in crores of Rs.)} (in crores of Rs.)
1991 283 42-8
1992 347 | 51-3
1993 629 70-4
1994 951 82-4
1995 784 657
1996 853 938
1997 92-5 112-4
1998 107-4 1285

Plot a time-series graph to the above data and comment on your
observations. 8

(¢c) The amount of income-tax paid by a sample 125 employees of a
company is summarized in the following frequency distribution :

Income tax paid No. of employees
(in '000 Rs.)
0-5 12
510 29
10-15 36
15 - 20 23
20 - 25 11
25 -30
30 - 35
35-40 2
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(i) Draw the less than cumulative frequency curve.
(ii) Determine the median, lower quartile and upper quartile.

(iii) What 1is 1_;he income-tax level above which 15% of the
employees fall ? 8

10, (a) A batsman finds that by scoring a half century in the 6th innings
of his test matches he has bettered his average of the previous
5 innings by 3 runs. What is his average after the 6 innings ? 4

(b) For the data given below on related variables x and y
(i} draw a scatter diagram,
(ii) compute the coefficient of correlation, and

(iii) interpret clearly thﬁe results in (i) and (ii).

x: 110 100 140 120 80 90

v 70 60 80 60 10 20
246+2-10

(¢) In how many different ways can the following be done ?
(1) Selection of 2 books from 6 different books.
(ii) Arrangement of the letters of the word ‘SATYAM'.

(ili) Construction of a two-digited even number using the digits
0, 1, 2, 8, 4, b, without repeating any digit. 2x3=6



10. (a)

(b)

{13)

(i) =ouzd08 FoTHoH SN TT[ay VTR0,
(1) Sochobat, IUAT wERGRrod By HedIT  wehpor oBnvEy
A BA.

CcC

(i) o3ma smok 301t g, Dees 15% eodathneds wysmgs 7 8
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X 110 100 140 120 80 90

v 70 60 80 60 10 20

2+642=10

81 BYNITaY, OF DOF DeINVY TWBE TG
() 6 ONG PRINOT 2 FRENYS;, ol TPERH.
(i) SATYAM 2o 855 wﬁ one BKeeE.
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